) [pb]

jets

|_\

(@)
D

o(Z+N

Ratio to ATLAS

[EEY

0.5

13000 GeV pp Z+Jet
= | I I I I

Jet multiplicity (p, > 30 GeV, ly| < 2.5, m> 40 GeV)

Rivet 3.1.10, = 3.2M events

IIII|IIII|IIII__II| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| [ TTT
IIII|IIII|IIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIIﬁ

m  ATLAS

—A— Pythia 6.428 370 .

---&-- Pythia 6.428 371 )

--¥-- Pythia 6.428 372 ; : Y
«-- Pythia 6.428 376 5
I T S N AN R M

L i L L | L L L | L L L
4 6
N

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


